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£A: SRS
B =N MBS HEYD PE(REUXSNL/IALTA)
Ciel: ZQE1 0IE0E CAIZBO HE (69 =)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SHA =K1 7,748,847 12,851,663 Ab,102,816
= 1,181,824
= 59,248
& 1,019,266
Al 5,448,509
= 40,000
=M MEEE HERD RR(ZELXNSNE/TSLT A 3,130,971 7,419,870 A4,288,899
= 130,000
& 358,814
Al 2,642,157
ZERQE1 OS2 TAIZ2Y EE 3,116,771 7,405,870 A4,289,099
= 130,000
= 358,814
Al 2,627,957
ot Y =9 22 275,800 461,000 A185,200
201 LBt AH| 1,800 2,000 A200
01 AtR2elt] 1,800 2,000 A200
Otz ARE 7 1,800,000& 1,800
206 =8l 25,000 25,000
01 =l 25,000 25,000
OJt2s LRFA & 2HAZ 2L
20,000,000 20,000
OJI24 Ms8Zid Hlg ¢
5,000,000& 5,000
305 A2 S 1,500 1,500
01 tha32s 1,500 1,500
OJtz4= AtLD Tlol a2
1,500,000& 1,500
401 A& B2 20HY| 247,500 432,500 A185,000
01 Al&HI 247,500 432,500 185,000
OJ2H & & 23 B4
10,000,000 10,000
OJt24 LIRFAF & galls Al
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Olt2 2aisd o 10,000,000& 10,000
Otz &8 180,000, 000& 180,000
O&z8 =4 2| 17,500,000 17,500
OLIE 22| 10,000,000 10,000
JIEHSE FHAAHNS XSF R2A 260,000 200,000 60,000
= 130,000
Al 130,000
401 A& HIZLE0HY| 260,000 200,000 60,000
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A SE>=X1
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Al 130,000
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OJIBasE ZSaE T4
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= 130,000
Al 130,000
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Oz 22U M=% 65,000
oSoilie sY=clth M= & dF5Y
20,000,000 20,000
olINEZ SY=EcIU M=&
10,000,000 10,000
odZ0)el SLE2U M==Y
10,000,000 10,000
oHUZ ZYEeIth M= ¥ dF&Y
25,000,000 25,000
405 XHetE S| 1,360 2,880 21,520
01 ML =SFSHI 1,360 2,880 21,520
OM=AMY GlFIl - 680,000 *2CH 1,360
MHE Z2O0=2 GOl £x =4 646,765 903,459 A256,6%4
101 @124t 74,382 72,626 1,756
M IIZtHZ22 S 74,382 72,626 1,756
OZRZE 2ol 74,382
oJl=2= 87,950 x2 X »2462 43,272
oR=SFYsY 87,9502 2«68 11,962
0522RY
87,950 2+ 150%+ 32 8,444
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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
o=4altl 60,0003 =2+ 12& 1,440
o WEH| 30,000 =2« 12& 720
o4HEE = 63,675,800 *10.795% 6,874
o LI |IRYEHRHYZ
63,675,800 *3. 545%*12.81% 290
0 ARRBEIN4E
87,950 x2H x5 880
oIl=HI(XMES, XA, ZHI2)
250,000 x2H 500
201 B2 AL| 63,933 75,833 211,900
01 ArR22ltl 33,533 41,033 AT7,500
022X 222 U Hoi= 29(ZAXE)
250,000& »23| 500
OZX5 Mok & AT A XY
6,000,000& 6,000
OZIF 23| 6,000,000& 6,000
OLEXNIZZA EAH& NS
7,2003 %1178+ 123 10,109
OYBH2RL HFBRIHHL+E
6,000& 1178+ 12& 8,424
OHEHE TN P (2T, EA)
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02 S=29| 30,400 34,800 24,400
OJI235tE 2t Ald FX2eld]
1,500,000 & *6H 2 9,000
OZEY Y =NFY SNz
3,000,000 3,000
OZIF HldoteA S22 It
1,000,000& 1,000
O=X&Hl 734l 3,000,000& 3,000
OSAFHROIBAYT BLAIS HEHEER
600,000« 12& 7,200
Oxt&Es X 2ell 600,0002 123 7,200
202 04d| 450 500 AB0
01 =LHOLI 450 500 AB0
O=UWH=EAH| 450,000& 450
206 =4I 113,000 158,000 A45,000
01 M=l 113,000 158,000 A45,000
O=3t Mg EYI0l 7L
10,000,000 10,000
OZ2 AT XIHBI(AE, HIZ)
40,000,000& 40,000
O3k ¥ 28 g 40,000,000& 40,000
OSMUE L2H210] ZHAY 22 2
46,000 *5004 23,000
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Gl ZQED OIS0 TAIZRO HE (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 395,000 520,000 195,000
ORE dak Ay 240,000,000 240,000
O ATHAl 2t== 20,000,000 20,000
OZDH HILotRA &t EX SA
40,000,000 *20H 2 80,000
Ot ZLS Al 25,000,000 25,000
OS2 =t &4 15,000,000& 15,000
O0E£ st =4 15,000,000 15,000
AEMEAERO(MEEX LX) (M EAY) 44,328 0 44,328
== 28,814
Al 15,514
101 e124d| 44,328 0 44,328
[ 28,814
Al 15,514
M ORINZZ2NSE S 44,328 0 44,328
O=Al=X2cld 44,328
o= 78,8803 x2ZH 198 31,237
= 20,304
Al 10,933
oR=RESE 78,8803 x2& x40 6,311
== 4,103
Al 2,208
odHEE= 37,548,000& *10.795% 4,04
= 2,635
Al 1,419
o }IQAYEY F5=2 937,000 937
= 609
Al 328
o AXtmERItrg
78,8803 x2H+5 789
& 513
Al 276
oLl=Hl 250,000 x2&H 500
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Al 175
0 wWF0{H| 200,000 2 400
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Al 140
o TAISX2eld WEH
50,0003 x2& 100
S 65
Al 35
AT MCZE 2tel 94,684 398,489 303,805
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oJlZ2= 87,9503 x2H 2462 43,272
oR=RESE 87,9503 x2& 68! 11,962
oRLIRY
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A SE=AL
Hu: ARIZHDSE S5 JRISE PH(SMLSL/AY - AE
Gl MEIRAEA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 5,000 10,000 /5,000
OB NESH 22 Z2|(BA, B4, ¥
S, HIZ) 5,000,000& 5,000
401 AIEHIX R0 10,000 240,000 /230,000
01 A28l 10,000 240,000 A230,000
OFU LHEEY SMAIdE S|
10,000,000& 10,000
405 KHaHE SH 1,000 1,000
01 AL =S F=H| 1,000 1,000
OS¢z M= oFI| 7Y
500,000 2CH 1,000
=) 524,49%6 538,060 13,564
= 262,248
< 78,674
Al 183,574
401 Al HIZL 2048 524,496 538,060 13,564
= 262,248
== 78,674
Al 183,574
01 Al&H| 484,4% 503,060 18,564
Ott2+=8 AtHI 8,128,000& 8,128
= 4,064
=S 1,219
Al 2,845
OLEUZ=IHI| At
30,376,000 30,376
= 15,188
== 4,5%
Al 10,632
OZEXIIHI| AtHHI 445,992,000 445,992
= 222,996
s 66,899
Al 156,097
02 2l 40,000 35,000 5,000
OZEXIHI| Zeldl 40,000,000 40,000
= 20,000
== 6,000
Al 14,000
A =& Y 2] 15,000 20,000 25,000
201 el 5,000 5,000 0
01 At2teltl 5,000 5,000 0
OalsgdAL = 5,000,000& 5,000
206 M=l 10,000 15,000 25,000
01 MZH| 10,000 15,000 /5,000




2H: BRASKY
B NAZHDSE S8 RIS DH(SPHLF/AY - HE)
Gl MEIRAEA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| o== 9 e 5,0008+2,000 10,000
P 2,433,660 3,249,192 AB15,53%
2 379,425
= 363,391
Al 1,650,844
x 40,000
H54 oA 5,000 5,000 0
= 1,500
Al 3,500
401 Al HI L2 OHH] 5,000 5,000 0
= 1,500
Al 3,500
01 Al&H 5,000 5,000 0
O=s+ HH| 5,000,000 5,000
= 1,500
Al 3,500
RIS E T (L e o) =) %,426 65,742 29,684
2 30,538
= 7,463
Al 17,425
x 40,000
101 ©1248| 750 750 0
2 413
= o7
Al 240
VBIETEESV=TRS 750 750 0
Ogersls LM D=y
250, 0002 3% 750
2 413
= o7
Al 240
401 Al HI L2 OHH] 94,676 64,992 29,684
2 0,125
= 7,366
Al 17,185
x 40,000
01 Al&H 94,676 64,992 29,684
SELELE 54,676
0 ZMOH0IE 183,500 *2ha 367
2 192
= 52
Al 123
0JIEHHE 162, 7202 *18ha 2,929




A SE=AL
Hu: ARIZADSE S8 DRISE PH(SUNYSL/ALY - AE)
ool ARIE 25 (ol m2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 1,507
=S 431
Al 991
o Z0K0| 181,650 *20ha 3,633
= 1,981
= 4%
Al 1,156
o= 924,300% *20ha 18,486
= 11,428
S 2,117
Al 4,941
oL AL 183,800& *5ha 919
= 480
= 132
Al 307
o LIS|IHXIOHEE 1,180,000& 2ha 2,360
= 1,180
= 350
Al 830
oS=LIY 174,370 x14%ha 25,982
= 13,357
= 3,788
Al 8,837
Onl=g=sLte s 2 Hals LHI(XHA)
40,000,000& 40,000
= 40,000
SENEES XE 3,500 4,500 21,000
201 fet=3| 2,500 3,000 A500
01 At 22|l 2,500 3,000 A500
OB 222 U M= 7 (ML)
250,000 x2H +23] 1,000
O=sdite Sege2, MEES HR A2
= g 1,500,000& 1,500
202 04dl 1,000 1,500 2500
01 =LHNHI 1,000 1,500 A500
Odtg2Es ol 1,000,000& 1,000
AHETHO L Kt SOI(AMEXS0ILEISITH) 718,905 861,948 A143,043
= 287,562
= 129,403
Al 301,940
101 @1A4H| 691,659 832,669 141,010
= 276,664
= 124,499
Al 290,4%
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RA - BE - SHAEH) - HRA - BAS ofl &t e DS
M ORNZZENSE S 691,659 832,669 141,010
Ot =l =0 a2t 674,159
oJlZ2= 82,0002 352 %110 315,700
= 126,280
= 56,826
Al 132,594
oRsEREsE 82,0002 x35H x26 71,750
= 28,700
S 12,915
Al 30,135
oRd2RSYE
82,0002 *150%+35EH x40 172,200
= 68,880
= 30,99
Al 72,324
ox&=¢ 100,000 x6 & +7 & 4,200
= 1,680
= 756
Al 1,764
o =4l 60,0002 x35H+7 & 14,700
= 5,880
& 2,646
Al 6,174
o uEH| 30,0002 35«72 7,350
= 2,940
& 1,323
Al 3,087
o girERIIsE
82,0002 x36H+72 20,090
= 8,036
= 3,617
Al 8,437
oAUHEEE 605,990, 000& %10.795% 65,417
= 26,167
== 1,775
Al 27,475
oA QALZE= 2,752,000& 2,752
= 1,101
& 495
Al 1,156
OdsdE0gdal 225
500,000 %35 17,500
= 7,000
= 3,150




2A:
X XH -
o e

=aak

>

1]

MEE
Ofl &k2h

7,350

Mo

=

27,246
10,898

4,904
11,444

29,279

2,033

800,000 122

84,000& *11CH+ 122

hoH

=

Mo

=

Mo

=

16,158

9,600
3,840
1,728
4,032

6,558
2,623
1,180
2,75
11,088

11,088
4,43
1,9%
4,657

18,8%4

10,385

N2,736

703

el ZII(AEHASHE M) (Z4)

Mo
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6,744
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A SE=AL
Hu: ARIZADSE S5 DRISE PH(SMLSL/AY - AE
ool ARIE 25 (ol m2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 990
=S 297
Al 693
AEYR WEEH ¥ TAIA)(SHEERY) 4,879 4,879 0
308 XXM SOIA 4,879 4,879
07 AX L FE= 4,879 4,879
Odat=dstols s & ot
4,879,000 4,879
A LRI (B ) 39,136 49,65 ~10,520
= 15,654
< 7,074
Al 16,408
101 @124H| 1,050 1,080 A30
- 420
== 189
Al Lz
M ORNZZ2NSE S 1,050 1,080 A30
Odat=dstl deiisl 50|
37,5002 x 14«23 1,050
= 420
== 189
Al 441
201 el 29,436 32,057 A2,621
= 1,774
== 5,328
Al 12,334
01 At22t2l] 29,436 32,057 A2,621
OJHeI & SHEH 14,036,000& 14,036
= 5,614
S 2,55
Al 5,866
OdttE RZ APt e RAIE =
5,000,000& 22 10,000
= 4,000
=S 1,800
Al 4,200
Ott=28 st SAMHI 5,400,000 5,400
= 2,160
=S 972
Al 2,268
202 04| 1,450 8,519 AT,069
= 580
S 261
Al 609
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SN BA=XD
Hu: ARIZADSE S8 DRISE PH(SUNYSL/ALY - AE)
o AMENR BS (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
EPEEES
78,8802 x 150%* 1002 x 11! 130, 152
& 39,046
Al 91,106
oxX&E 50,0003 *4H *x3E 600
c 180
Al 420
o=AM| 60,000& *100H x3& 18,000
& 5,400
Al 12,600
o uWEH| 30,0002 *100H *x3& 9,000
& 2,700
Al 6,300
0ANRBFHINAL
78,8802 *100H +3& 23,664
= 7,09
Al 16,565
odHEE = 591,592, 0002 *10.795% 63,863
& 19,159
Al 44,704
0LQRIQABHZ
591,592, 000& *3. 545%+12.81% 2,687
= 806
Al 1,881
201 LBt AH| 6,551 12,045 N5,494
& 1,965
Al 4,586
01 Al22+21H| 4,451 9,045 N4, 5%
OMZANE 29 £2F 7Y
4,451,000 4,451
= 1,335
Al 3,116
02 S22ZH| 2,100 3,000 A900
OZY e X & X2l 2,100,000& 2,100
= 630
Al 1,470
301 LEtEAZ 5,500 6,600 A1,100
& 1,650
Al 3,850
14 J|EI2 &= 5,500 6,600 A1,100
O0lS& p2oetes XA
500,000&*11H 5,500
= 1,650
Al 3,850




A SE=AL
Hu: ARIZADSE S8 DRISE PH(SUNYSL/ALY - AE)
ol MHEHE BS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 7,000 8,400 21,400
= 2,100
Al 4,900
02 2IZHBYAIHE X 7,000 8,400 1,400
OXNEEH dMEdLESNEH
1,400,000 «5EH K| 7,000
=S 2,100
Al 4,900
AHE0Y ZAIZS(ZIIYR) 200,200 63,504 136,696
308 XXM SOIA 200,200 63,504 136,696
07 AX L FE= 200,200 63,504 136,696
Odt=0e oIt 200,200,000 200,200
A=28SHEHl ¥ oIS 2 Y 590,439 565,667 24,772
101 @124H| 523,137 487,691 35,446
MU IIRIMZZENSES 523,137 487,691 35,446
OUEULZAIA 3%4,890
0Jl=2 78,8802 * 1002 x20L 157,760
oRIEYLY 78,8802 %1002+ 102 78,880
oRYIRAY
78,8803 * 150%+ 100 * 10 118,320
odEE= 354,960, 0002 %10.795% 38,318
oRIIIIRAEEE
354,960,000 +3. 545%*12.81% 1,612
Otts=tSHE 223 36,760
oJlZ2s 78,8803 x3& 05 22,481
oRsREsE 78,8802 x3& x25& 5,916
0BY2RLY 78,8802 150+3% +72! 2,485
0ANRBFHINAL
78,8802 32| x4E 947
oaz4itl 60,0003 x3&+5& 900
0 wSH| 30,0002 x3&+53 450
odHEE = 31,829,000 +10.795% 3,436
oA RAYLER
31,829,000 *3. 545%+12.81% 145
O=xoliH S88s 52 91,487
oJl=a 78,88021+8% %622 39,125
onBEYLY 78,8302 1824 172 10,728
oEYDRAY
78,8803 15008 x30 28,397
0 HHRIEINY
78,8802 x8H+3 1,894
OERES S 50,0002 <3 150
o =4l 60,0002 x8&+3& 1,440
o uESH| 30,0003 8 +3& 720
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MEE
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64,302

8,668
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1,000
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10,000
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1,500
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n
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n0
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O
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3,342,350 *105%
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100,000 +80&H
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o
Il
To

o O

1,000,000
52,0003 * 128

20,0002 +300H
20,0002 200K
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=
ol

<
RO

1,500,000&
1,000,000
1,000,000

Ott=28 3= MEHI

30
U
[H0
M0

A2,000
A2,000

4,000

5,000
5,000

6,636
264
240

6,132

8,532
600
732

7,200

3,000

1,500

1,500

16,000

3,000

3,000

3,000

4,000

22,0002 128
20,0002« 128
73,0003 +7CH =128
50,000 *12&
61,0002« 122
600,000& = 128
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1,500,000&
3,000,000&
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A SE=AL
Hu: ARIZADSE S5 DRISE PH(SMLSL/AY - AE
Rl MEAE 2S (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 4,000 4,000
01 Al&H| 4,000 4,000
OLUSMASE e LIRFAE A 4,000
o &AIEAHESHI 4,000,000 4,000
HY2AHH(SA =) (JIEH/IIE 19,560 24,988 N5,428
=34 19,560 24,988 Ab,428
Jl=23H] 19,560 24,988 Nb,428
201 er23 | 14,250 19,100 A4,850
01 At2teltl 11,250 16,100 24,850
OEELEIC =S 4,050,000& 4,050
OAMREIHI(RMZSE) 7,200,000& 7,200
02 S3=gHl 3,000 3,000 0
O332gHI(RNBE) 3,000,000& 3,000
202 04| 450 500 A50
01 =LHO LI 450 500 A50
OFAMEE =0 450,000 450
203 HR=H| 4,860 4,860
M A2 LRFEI 4,860 4,860
ORKNEg g4yl 405,000+ 123 4,860
Wees(SE=sIM) (sdolLa/d - &E) 84,642 84,410 232
= 59,248
Al 25,3%
FSPNE 84,642 84,410 232
= 59,248
Al 25,3%
ZI01EAHSH KL OIXXI& 84,642 84,410 232
= 59,248
Al 25,394
311 XS0l Aratat 84,642 84,410 232
[ 59,248
Al 25,3%
01 Al - & - 2XGNLI ISR S0 KHatet 55,151 55,000 151
OAl - & - XN I IS S0l At 2t
5,000,000,000&%1. 1% +150,6802 55,151
= 38,605
Al 16,546
03 SLHFALSO0IAtetet 29,491 29,410 81
OSLE AL S0IAtetet
1,700,000,000& *1.73% +80,580& 29,491
[ 20,643
Al 8,848




